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ERR RIS E (4) e g 1,010 1,780 A 770 4 84 /A 839 A 19
2t 1 4,264 1 7,854 0] A 3,590 44 304 o] A 3,929 A9
(2) & Kt 17,290 18,242 A 952 39 535 A 1,526 0
I R BR|(3)RE T Y% 10,424 10,405 19 93 221 A 425 130
R (O E - 8,748 8,819 A 71 17 259 A 712 365
it 5 36,462 5 37,466 o] A 1,004 149 1,015 o] A 2,663 495




% N N M & A AR JE Al OB b= I 5 4 5 it} FH
X o | ANE TEE [ ANB|] TEE | ANB| TERE |B 5 & E|H falee OB Wk B B #lr o fit
(2) 4 kB 4,860 4,845 15 0 15
Hi I BR R 3| (3) B T4 %% 3,695 3,664 31 25 6
Boal o2 sk ¥ B 2,513 2,499 14 5 8 1
it 1 11,068 1 11,008 0 60 30 29 0 0 1
(2) 4 bt 3,099 2,886 213 16 197
i 5 K E[(3) e F Y% 1,535 1,359 176 19 81 76
¥Rl & BH @k ¥ B 1,478 1,453 25 4 99 A 78
it 1 6,112 1 5,698 0 414 39 377 0 0 A 2
(2) % bk 9,845 11,927 A 2,082 23 303 A 2,408
T oK JE|(3)WE TF M 6,664 7,568 A 904 57 125 /\ 887 A 199
=¥ S F@WE B OB 4,894 5,933 A 1,039 11 151 A 1,012 A 189
it 3 21,403 3 25,428 0| A 4,025 91 579 ol A 4,307 A 388
(2) 4 bk 9,760 7,054 2,706 35 264 2,407
oK BB RRE TN 5,935 4,884 1,051 55 109 887
HE S F@WE B OB 4,823 3,514 1,309 10 132 1,013 154
it 3 20,518 3 15,452 0 5,066 100 505 0 4,307 154
(2) % bk 565,844 577,534 A 11,690 522 7,572 14,977 2,660 A 37,421
NS IR PR (3) B T % 308,509 321,271 A 12,762 2,583 3,127 3,826 1,621] A 23,919
=¥ S F@WE B OB 256,567 251,145 5,422 431 3,293 3,935 1,353 A 3,590
it 118 [1,130,920 | 114 [1,149,950 4] A 19,030 3,536 13,992 22,738 5,634 A 64,930
(2) 4 bt 1,304,507 1,295,894 8,613 2,389 20,566 20,978 0] A 35,320
& FH ) B F2% 762,926 761,756 1,170 6,350 8,492 12,219 0] A 25,891
(ENEETI[(QIH ¥ 672,183 695,994 A 23,811 1,137 11,279 7,319 0] A 43,546
it 320 (2,739,616 | 314 |2,753,644 6] A 14,028 9,876 40,337 40,516 0] A 104,757
(2) #& kt 108,841 104,145 4,696 246 42 4,408 0 0
WO = (3) kB T4 119,835 117,595 2,240 663 2,260 3,432 0] A 4115
(43 % 45,632 43,418 2,214 109 2,345 A 289 0 49
it 32| 274,308 | 31| 265,158 1 9,150 1,018 4,647 7,551 0] A 4,066
(2)#& kl 1,413,348 1,400,039 13,309 2,635 20,608 25,386 0] A 35,320
i FH ) B F2% 882,761 879,351 3,410 7,013 10,752 15,651 0] A 30,006
(ENEEPI[(@QIH & 717,815 739,412 A 21,597 1,246 13,624 7,030 0] A 43,497
it 352 (3,013,924 | 345 (3,018,802 71 A 4,878 10,894 44,984 48,067 0] A 108,823




7 THREAHNRBIENRER

(15) FHM2FERFEIABARERNRER

- HitEE Eep ey HREM LR #a% EREM
% 5 A% A% A%E BFE A% A% A%E BFE

EHBBE 1 21| 146,100 6,283 1 29| 154,900 6,662
BB HERE 1 29 154,900 951 1 29 154,900 951
HEHEBEA 1 21| 146,100 897 1 29| 154,900 951
BisEE 8 (RIHEHHE) 1 29 154,900 951 1 29 154,900 951
[ITES g2 AC S 4= 1 29| 154,900 951 1 29| 154,900 951
FRBHHE 1 21| 146,100 6,283 1 29 154,900 6,662
[Ry=4=1 1 29| 154,900 951 1 29| 154,900 951
BERBRE 1 29 154,900 6,662 1 29 154,900 6,662
SDSEEREEERE 1 29[ 154,900 951 1 29| 154,900 951
CSaA—TAHR—4— 1 21 146,100 6,283 1 29 154,900 6,662
HTRIJESE 1 50| 190,400 8,189 1 50 190,400 8,189
FEMRERREXIER 1 45 182,200 1,119 1 45 182,200 1,119
FEREELER 1 45| 182,200 1,119 1 45| 182,200 1,119
HWRBEREXIES 1 42| 174,400 1,071 1 42| 174,400 1,071
REE4E 1 42| 174,400 1,071 1 42| 174,400 1,071
ERXIER 1 35 163,100 1,002 1 42| 174,400 1,071
MEXIER 1 50 190,400 1 50| 190,400
REBXIER-BEER 1 42| 174,400 1,071 1 42| 174,400 1,071
REHRES 1 35 163,100 1,002 1 42| 174,400 1,071
HEE 1 32 158,900 976 1 32 158,900 976
REL 1 36| 164,700 7,083 1,011 1 43| 177,000 7,612 1,087
REREL 1 36 164,700 1,011 1 43[ 177,000 1,087
BRYIR—I AT LYR—K)—4— 1 36 164,700 1,011 1 43| 177,000 1,087
BIGIEERERER 1 49| 188,700 170,438 1 49| 188,700 170,438
TEEEE 1 21| 146,100 6,283 1 25| 150,600 6,477
EBRRFBHE 1 40| 170,400 7,329 1 44| 179,600 7,724
BREEEE 1 40( 170,400 7,329 1 44| 179,600 7,724
NEFEHEER 1 40( 170,400 7,329 1 44( 179,600 7,724
BihERERES 1 40( 170,400 7,329 1 44| 179,600 7,724
SHIEE 1 40| 170,400 1 44| 179,600
EERHD 1 45| 182,200 7,836 1 53 195,500 8,408
HELERE 1 28( 153,900 1 36 164,700
HBREVA—EE 1 32| 158,900 6,834 1 36| 164,700 7,083
REBELVI—HER 1 36 164,700 7,083 1 36 164,700 7,083
Hhigds S L% H Bk 1 61| 206,300/ 186,335 1 61| 206,300| 186,335
L EEHRFBE 1 41 171,700 155,083 1 41 171,700 155,083
EEFTBHLETR (Y — 1 49| 188,700| 170,438 1 49| 188,700 170,438
SHEEELRIERRIGER 1 49| 188,700 170,438 1 49| 188,700 170,438
RI—ISATTRIRAHF— 1 49| 188,700| 170,438 1 49| 188,700| 170,438
BETHIEEHF 1 65| 211,300 1 65| 211,300
BB EGA 2 21| 229,500 207,290 2 21| 229,500 207,290
P EHHE 1 73| 220,600| 199,251 1 73| 220,600| 199,251
FETEVS—HE 1 36| 164,700 7,083 1 43| 177,000 7,612 1,087




A ERBIERIR (2) BIERIAER

Wi EHSE ¥ A LR #art SREN
% 5& A& A% A%8 BFA % 5& A& A% A%8 BFA
WREEL 1 4| 155,200 953 1 12| 168,200 1,033
FEL 1 4| 155,200 6,675 1 12| 168,200 7,234
7 EEBIERIR () BIEREER
Wi EHSE % A LR #art SREN
% 5& A% A% A%8 BFEA % 5& A& A% A%8 BFA
{REEHT 1 20 197,300 1212 2 19 223,700 1,374
BhEEER 1 20 197,300 8,486 2 19| 223,700 9,621
NERIXBERES 1 20 197,300 1,212 1 20 197,300 1,212
I Z]ith
- HiEESE ¥t SREN LR %t SREN
& S A% A% A%5 BHA & S& A% A% B%8 BHA
NEFE (XEBEEHF) 300,000| 270,967 300,000/ 270,967
75 XHREE %t 78— EREN
PHRBRVREBLEEDE TR (BE)EIZK BE |SREk
BEEOEBI BT SBETEINE ReE |wmEm 0@ | s
B 1R 21-Y1,280H
FEXEREEMABZICLY, I5EE
HEXERES PRELLTLEDEBICRET D58 Kzt |1VERE | 19052 700 17,208
1 BRI 2% 7-1) 1,280 EmEs
BEHENBEORBIEBERICRSET E3
1548 HHOBIZEC1BERYY BREwE (1~3F%H| 19,639 700 [ 17,738
1,070 pectiai: =]
3ELE | 20200 700 [ 18245




(16) &4

(23D < ZEFE ORI O%R

T4, %’E&@H@%’gﬁé ()%%Dﬁ% %&@H@% ()%%n 2 R
REEZERRR H#%E 64, 700 H#%E 64,700/
REZE D RMGREE A% 47,700 H%E 47,7004
REEZERER H#%E 41,500 H#%E 41,500/
BEZERHABTRMBRITE A% 47,7001 A% 47,700
BEZEERZEER H#%E 41,500 H#%E 41,500/
NPEEREZRR H%E 7,400 H%E 7,400H
NVEERER A% 6,800/ H%3 6,800/
REEEZEE H%E 142,000/ H#%E 142,000/
EAZA H%E 71,000/ H%8 71,000/
[EEEENTFEAZRRZER H%E 6,500 H%4 6,500
EEEHEEAZER A% 7,400 A% 7,400
BEEREBERER H%E 6,800H H%4 6,800H
] R R e B i 2 B A%4 3,300 H%d 3,300/
HEBEER H%E 3, 300H H%4 3,300
AR—VHEEL B H%E 3,300/ H%E 3,300/
RAZEHBERZER H%E 3,300 H#E 3,300
Pisk=igZ A H%E 3,300 A% 3,300
ERREERZR H%E 3, 300H H%4 3,300
TEAREESZER HEH 3, 3001 A& 3,300




(17 N fF N S SN
AL AR PR T
KA B CKGS Uk
W %
ARO| T Bl ram 5| v

EOm B 314 2,701,924 309| 2,725,843 5| A 23,919
S 6 37,692 5 27,801 1 9,891
SO 26 71,287 26 71,287
ST 290 468,300 290 468,300
TR 166,395 166,395 & #HH (EMMRE S
B oA BB e A\ 68,600 A\ 68,600
WO OE M B 32 274,308 31 265,158 I 9,150

668| 3,651,306 345 3,018,802 323 632,504




